Variable Acceleration

@ A:particlePlnvelsalongastraightlinc&:roughapointOsothaiaxﬁmczsaftcrpassh:.gthmughOits
displacement from O is x m, where x = 7 — 157 + 621

Find
(a) the initial velocity of P, (&)
(b) the value of t for which P has zero acceleration. )

The acceleration of a particle after t seconds is given by (4t - 8) ms”.
' Given the velocity () of the particle is 6 ms™ when 1= 0.

(a) Find v in terms of . (3)

(b) Find the distance between the two points the particle is instantaneously at rest. ™

3 The velocity of a particle after t seconds is given by v=(6t—2) m s
After 5 seconds the displacement is 75m from O.

(@) F ind an expression for the displacement. 3)

(b) Find the displacement after 10 seconds. )

@ A particle P moves in a straight line such that at 7 seconds, ¢ > 0, its velocity, v ms™ is given by:

p=12-2¢
Find: .
(a) the distance travelled by P in the first second,
(b) the value of r when P changes direction of motion, @)
)

{©) the value of 7 at the instant P retums to its starting point.

+ticle P travels along a straight line through a point O so that at time 7 s after passing through O its
cment from O is x m, where x =27 — 187" + 481

mes when P is instantancously at rest, &)

1 distance travelled in the first 5 seconds. )]
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e A particle P moves on the x-axis. At time 7 seconds the velocity of Pis vms™ in the
. direction of x increasing, where

y=212— 141+ 20, t>0
Find
(a) the times when P is instantaneously at rest,
3)
S (b) the greatest speed of P in the interval 0 <7 < 4
&)
(9) the total distance travelled by P in the interval 0 <7< 4
(5

k @ A particle travelsin a straight fine such that fis

£ acceleration, g 3=, at 1ime £ seconds is given try
a=&¢+ 2. When £ =2 scconds, the displacament, 5,
is 10 metres and when f = 3 seconds the displacement

is 38 mewes Find:
a rhe displacement when / = 4 secoads
b the velocity when ¢ = 4 seconds.

(& marks)
{2 marks)

\rain maves in 2 straight ke along u 4 km Lest truck. The molion of the Lrain s modelled asa
of {he train from the start of the rack

& el Lravelling i 1 siT jerht ling, and Lhe dislance, sy,
s=360+ 1,767 0028 0=7= 90, Show that 1he train never

\er time ¢ seconds is given by
hes the end of the track {7 marks)
{ head on a prinler moves such ehmitsdisplmnﬁsntsmﬁumthe side of the printer al
mals is given by:
154+ 127+ 30).0=50%3
me Begween the pomis whes t&ﬁpﬁnlfmadisinﬁimumwusly ui sl
! (6 marks)

) place.
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